MA 22200 Practice Exam 3 Spring 2014

d:
1. Find the solution to d—y = 622 4 2z passing through the point (—3,12).
z

A,y =18z3 + 422
B. y=12x +48

C. y=22%+2%—51
D. y:%$3+57
@y:2x3+x2+57

d T .
2. The solution to d—y = sec z tan z, subject to the condition that y = 5 when z = 3 is
x

Ky =secs + 7
— tan2 2

B. y =tan a:+5—l—ﬁ

C. y=secrtan’?z +secdz + 19
_ 2

D. y—secx+5+7§

E. y=tan’z+7
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3. Find the general solution of sin®¢ + ysect d—?tJ =0.

A y?—cos’t=C
B. 42+ 2sint =C
C. y:Ce%sint
®3y2+2sin3t=(7
E. 42 —2cost =C

4. Find the solution to the equation (1 + 23)dy — z*ydx = 0 that passes through the point
0, 3)- '

1
A, —+Injl+2°-8=0

242

B 14—1ln|1+ 3 -64=0
1, 1

C. 2y~ ~ln|l+2% — — =
2V — gl e - g =0

~ 1 1

Dj — +-Inj1+2%-8=

(\)2y2+3ln| 2% —8=0
1

1
+-In|l+2*-2=0

E. —
2y2 3




MA 22200 Practice Exam 3 Spring 2014

d
5. The general solution of the equation 4 d_y +8y=e%is
x

A y=3e4+C

@) y=—5e4Ce ™
C.y=—5e"+Ce™
D.y=ge 4 Ce™
E. y=-3e+C

6. It is found that 5% of a certain quantity of some isotope of radium decays after 25 years.
Determine the half-life of this isotope. Round your answer to the nearest year.

A 21
B. 6
C. 250
D. 1460

@ 338
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7. A body whose temperature is 22°C is placed in a freezer kept at —10°C. One minute
later the temperature of the body has dropped to 18°C. How long will it take for the
temperature to fall to 0°C? Round your answer to 2 decimal places.

A. 2.02 min -
B. 32.00 min
@ 8.71 min
D. 1.20 min
E. 18.02 min
: . dy _dy : .
8. Find the solution to 3 ) +2 pi 8y = 0 subject to the condition that y = —4 and
x
d
—g=—2whenx:0.
dx
y = —3ei% — g%
B. y = —Lles® — 2%
C.y=—ei®—3e 2
D. y = —9¢3% + 5e*@
—2z

4
E. yz—%eﬁx—%
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9. Find the general solution of % —12 Z—y + 36y

Ay =15 + e

B. y = c1e7%% 4 cywe 6% + cyz2e 6

u y = 1€ + cpzed®

D. y =cie % + cyre8

E. y = c1€% + cyzef® + c312e®®

10. Find the general solution of —dﬁ -3 &y +5y =0.
' dx? dx

>

y=e3® (clcos(‘/_ )+0251n(\/_1:v))
B. y =cie™® + ce™™®

C.y=e* (01 cos (V11z) + cpsin (v11z))

\) = ClCOS(“é— ) +cosin (Ygla))
E. y = c1€% + ce”

Spring 2014
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11. Solve the equation — — —— — 6y = 4x.
x

\ — 3z -2z _ 2 1
y—cle + coe 3T+ 35

B. y=cie® + e -3z -1

C.y=cie ™ + e — 2z + 3
D. y=c1e¥ +ce® —2z+9

E. y=ce%+ cpze®® — 22+ 9

Spring 2014

12. Solve (D? — 9)y = 16cos z, subject to the condition that y =0 and Dy =3 when' z = 0.

A y=2e% -2+ Lcosx

B. y=1e — 173 4+ 2cosz

C. y =2€* —2e73 + 8cosz

y = 3% — ze7% — %cosx

E. y=—1e% — 1% +2cosw




